
 

HỌC TẬP - LỚP 4  - TOÁN LỚP 4 

Giải bài 1 trang 45 SGK Toán 4 tiết Tính chất kết hợp của phép 

cộng 

Bài 1 (trang 45 SGK Toán 4): Tính bằng cách thuận tiện nhất: 

a) 3254 + 146 + 1698 

4367 + 199+501 

4400 + 2148 + 252 

b) 921 + 898 + 2079 

1255 + 436 + 145 

467 + 999 + 9533 

Lời giải: 

a) 3254 + 146 + 1698 = 3400 + 1698 

= 3400 + 1600 + 98 

= 5000 + 98 

= 5098 

4367 + 199+501 = 4367 + 700 

= 4300 + 700 + 67 = 5000 + 67 = 5067 

4400 + 2148 + 252 

= 4400 + 2400 = 6800 

b) 921 + 898 + 2079 

= 921 + 2079 + 898 

= 3000 + 898 = 3989 

1255 + 436 + 145 

= 1400 + 436 = 1836 

467 + 999 + 9533 

= 10000 + 999 = 10999 
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